Pracovní list
Sčítání a odčítání dvojciferných čísel
1.
Vypočítej.


52 + 20 =

84 + 10 =

32 + 30 =


27 + 50 =

46 + 40 = 

51 + 40 =


88 – 20 =

45 – 10 =

78 – 40 =


55 – 40 =

98 – 50 =

65 – 30 = 


















2.
Doplň  > , < , =

24 + 20 ___ 45 – 20

84 – 30 ___ 24 + 30

86 – 10 ___ 66 + 10

15 + 20 ___ 25 – 10


42 + 30 ___ 55 + 10

41 + 20 ___ 86 – 40


31 + 30 ___ 45 + 20

10 + 12 ___ 50 + 42


82 – 50 ___ 77 – 20

25 + 10 ___ 26 + 10


58 – 20 ___ 12 + 10

76 – 40 ___ 15 + 20

11 + 30 ___ 81 – 40

56 + 20 ___ 43 + 20
3.
Slovní úloha


Do divadla jelo 17 chlapců a 10 dívek. Kolik dětí jelo   

celkem do divadla?

            Znázorni:                                                       

            Vypočítej:

            Napiš odpověď:


4.
Vypočítej.
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